Ersatzteile/ Exchange pieces

Abmessung LBB105VV | LBS105VV | LBW 105 |LBS1105VE| LBW 105

DIN Norm mm Pos.-Nr. 230V 230V 230V 110V 110V

1 251.595 251.595 139.440 166.561 141.909

2 251.621 251.621 159.387 166.588 177.520

3 - — 212.644 212.636 212.644

4 212.660 212.660 212.660 212.660 212.660

4m 5 255.409 255.409 255.409 236.462 236.462

13 195.677 195.677 195.677 203.068 195.677

7 211.451 211.451 211.451 211.451 211.451

8 195.812 195.812 195.812 195.812 195.812

9 195.820 195.820 195.820 195.820 195.820

923 M5x10 10 254.833 254.833 254.833 254.833 254.833
11 251.368 251.368 — 216.844 -

12,5x8,89x0,18 12 254.884 254.884 254.884 254.884 254.884

13 254.885 254.885 254.885 254.885 254.885

8x5x7 14 255.245 255.245 255.245 255.245 255.245

15 100.277 100.277 100.277 100.277 100.277

16 166.529 166.529 166.529 166.529 166.529

625 12x28x8 17 214.884 214.884 214.884 214.884 214.884

625 10x26x8 18 254.442 254.442 254.442 254.442 254.442

625 7x19x6 19 254.443 254.443 254.443 254.443 254.443

20 177.644 177.644 177.644 177.644 177.644

KT4x12 21 195.715 195.715 195715 195.715 195.715

7985 M4x12 22 149.136 149.136 149.136 149.136 149.136

23 152.056 152.056 152.056 152.056 152.056

24 254.878 254.878 254.878 254.878 254.878

25 255.410 255.410 213.764 255.410 213.764

26 257.354 257.354 257.354 257.354 257.354

27 197.041 197.041 197.041 197.041 197.041

28 154.997 154.997 154.997 154.997 154.997

29 — — 254.897 — 254.897

30 257.418 257.418 257.418 257.418 257.418

48x1,2 31 159.204 159.204 159.204 159.204 159.204

50x25,4x1,5 32 159.212 159.212 159.212 159.212 159.212

33 254.877 254.877 254.877 254.877 254.877

34 159.247 159.247 159.247 159.247 159.247

KT4x30 35 195.693 195.693 195.693 195.693 195.693

36 189.251 189.251 189.251 189.251 189.251

7985 M4x8 37 258.573 258.573 258573 258.573 258.573

KT4x 40 38 195.707 195.707 195.707 195.707 195.707

6,3x7 39 250.066 250.066 250.066 250.066 218.073

40 195.782 195.782 195.782 195.782 195.782

41 215.074 215.074 215.074 215.074 215.074

42 166.499 166.499 166.499 166.499 166.499

24x14x1,4 43 160.512 160.512 160.512 160.512 160.512

25,9x15,5x0,5 44 160.520 160.520 160.520 160.520 160.520

45 160.539 160.539 160.539 160.539 160.539

46 254.899 254.899 254.899 254.899 254.899

6325 5x20 47 254.898 254.898 254.898 254.898 254.898

48 254.886 254.886 254.886 254.886 254.886

1475 2x12 49 412.015 412.015 412.015 412.015 412.015

78x30x3,3 50 254.901 - 254.901 — 257.200

51 255.845 256.533 255.845 256.533 255.845

52 254.892 254.892 254.892 254.892 254.892

7 4h8x 28 53 255.520 256.527 255.520 256.527 255.520

6912 Mé6x12 54 254.888 254.888 254.888 254.888 254.888

55 254.893 256.526 254.893 256.526 254.893

56 254.881 254.881 254.881 254.881 254.881

57 254.890 254.890 254.890 254.890 254.890

912 M5x10 58 254.891 254.891 254.891 254.891 254.891

Méx58 59 254.900 254.900 254.900 254.900 254.900

439 M8 60 255.334 255.334 255.334 255.334 255.334

61 194.034 194.034 194.034 194.034 194.034

62 - - 254.899 - 254.899

63 244.481 244.481 244.481 244.481 244.481

64 255.211 255.211 255.211 255.211 258.324

65 254.887 254.887 254.887 254,887 254.887

66 - - 255.229 - 255.229

67 - - 255.226 - 255.226

68 - - 251.648 - 251.648

69 - - 251.646 - 251.646

70 - - 251.650 - 251.650

71 — - 252.398 - 252.398

72 254.879 254.879 254.879 254879 258.322

73 — - - - 233.943

1/20 Aupwiag ui pajuiy q)-z/8'75g UN-3JieL

SOL ANGT
AASOL ST

AASOL 991



